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O HA2ESEA 1A 700,000& 10& ~6H 42,000
21,000

10,500
10,500
O 401 2= 2,300,000& 2,300
, 151
574
575

S

M

S

U

201 YEH2HH| 370 380 A10
184
93
93

S

M H1

01 AtR2teld] 370 380 A10
O AREE S 7Y 370,000& 370
184

93
93

|

Ml 1

301 LetEas 3,600 3,960 A 360
1,800
900
900

S

Ml 1

MEHIEAS 3,600 3,960 A 360

50,0002 x6 6 1,800
900
450
450

S

U

O AJIEAE 2HME F0Ad 24

50,0003 x24H 13] 1,200
600
300
300

S

M H1

O 21 44 Atell2el 212

10,0003 » 102 «6H 600
300
150
150

S

Ml 1
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SN
X XH .
S Tt

el

HAE=EH
SR x4
M. ool (3]) - IR A= Aro e
= 42,950
PIAHAUZZXE = 85,900 61,137
O gskag oAl 73,616,000& 73,616
| 36,808
= 36,808
O 404 BE8= 6,284,000 6,284
| 3,142
= 3,142
O #sXd8 2UHatl 50,0003 x40 x3H 6,000
| 3,000
= 3,000
2 B2 A 12,800 15,063
| 6,400
i 6,400
AR 2telHl 10,800 13,063
O sz 29 4,000,000& 4,000
J| 2,000
2 2,000
O HSX/AE oF2AT A
5,000& *3H 10+ 12& 1,800
| 900
= 900
01388 =22 M 2,000,000 2,000
J| 1,000
= 1,000
O get=gH| 3,000,000 3,000
J| 1,500
= 1,500
A2 S HI 2,000 2,000
O 2SX2E A 228 2,000,000& 2,000
| 1,000
i 1,000
AutBAS 3,800 3,800
J| 1,900
= 1,900
HALRHIEAZ 3,800 3,800
O 9IIEAE A22E 4
50,0003 *123] 600
| 300
= 300
O ZAHCIAE AUl24 10,0003 10 x123] 1,200
| 600
= 600
O 2SXd8 W= &HE 2,000,000& 2,000
| 1,000
i 1,000
El SAEA 2 6,520 46,200
= 3,260
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S E
™ZEH: =
o Tt (=)
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el

el
x
bl
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

M

3,260

101 Q1A 6,520 46,200 39,680

3,260
3,260

M H1

04 JIAHZ2NHESE= 6,520 46,200 239,680
SP~a= P\, 724, 4003 x1E 900 = 6,520
3,260

3,260

EUNGH

a4 Heldd 370,000 329,363 40,637
99,500
54,000

216,500

S

UL

A4 BE 29 40,000 48,000 /8,000
16,000
12,000
12,000

S

Ml H1

307 GI2t0ld 40,000 48,000 /8,000
16,000
12,000
12,000

S

M

10 AtRISXEX 40,000 0 40,000
Z3E =29 4,000,000& 102 40,000

16,000
12,000
12,000

S

Mk

Fad Y= 0FIHHI0! 286,000 145,363 140,637
78,000

39,000
169,000

S

Mok

307 2120l & 286,000 145,363 140,637
78,000
39,000
169,000

S

U

10 MaISXEX 286,000 0 286,000
O Ead = 09thiol =<
156,000,000 156,000

78,000
39,000
39,000

130,000, 000& 130,000

S

Mk

e
0z
b
m
08
11
0
Ao
02
al
o

O3
>
i
b
ﬂ
40
0
fon
Ho
08

3,000 3,000 0

1,500
1,500

H X

N
2
e
o
H0
02
=

3,000 3,000 0

1,500
1,500

H S

01 AtR2teld] 3,000 3,000 0
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M =olME 2 0t
HE: AW AWSY
ool Eay dedHE (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- = Tl (2 ° . (= (=3 =5 0:”/|l|,% Lsa
O #AEXXAASE 22 (204) 3,000,000 3,000
| 1,500
= 1,500
a4 sotel N 41,000 13,000 28,000
J| 4,000
& 3,000
= 34,000
307 gI2told 41,000 13,000 28,000
| 4,000
& 3,000
= 34,000
10 AlRISXIEX 41,000 0 41,000
O daEs0tel XA 1,640, 000& *2574 41,000
| 4,000
= 3,000
= 34,000
HAEANE 29 162,880 162,880 0
| 26,440
= 136,440
dA4 239 & 29 110,000 110,000 0
307 gI2told 110,000 110,000 0
05 CIZtRAEZ 110,000 110,000 0
O a4 239
110,000, 0003 *1JH 2 110,000
FadsaAE XN A 8K 38,880 38,880 0
| 19,440
= 19,440
307 212t01& 38,880 38,880 0
Il 19,440
i 19,440
10 AlRISXEX 38,880 0 38,880
O BALYUXIEZAM 1,620,000& x 123 x2YH 38,880
| 19,440
= 19,440
FaYE EAd 2E/3 3 2,000 2,000 0
| 1,000
= 1,000
307 212t01& 2,000 2,000 0
J| 1,000
= 1,000
10 AlRISXEX 2,000 0 2,000
O #3a24EZEJ FAE2IGA/3 224
10,000& 20+ 103] 2,000
| 1,000
i 1,000
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S FOIMERRD
Ha: HAW AWSY
Sl AW AMSHY DRI (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
O EMOIEtn 29 2,500, 0002 2,500
O BAUSIISER 30,000, 0002 30,000
O AW WAIOH @MBSE 10,000,0008 10,000
OE-PNEREN L 3,000, 0002 3,000
HAHSRAIL B 2,338,000 1,743,000 595,000
=l 1,708,000
2 630,000
Hadaps Jes 371,000 127,000 244,000
3 308,000
2 63,000
401 AEHILR ] 371,000 127,000 244,000
=l 308,000
2 63,000
01 Al&t| 368,328 126,085 242,243
OFLHAELEA HB4  368,328,0008 %14 368,328
=l 308,000
2 60,328
03 Al&SOHH| 2,672 915 1,757
OFLHAELHUY N2
371,000,0002!%0.72/100 2,672
HEHAELRD 2 1,967,000 1,616,000 351,000
=l 1,400,000
2 567,000
401 AEHILS U] 1,967,000 1,616,000 351,000
3 1,400,000
2 567,000
01 Al&t| 1,935, 169 1,591,921 343,248
OFAHSRABAZ ALY 1,935, 169,000%! 1,935, 169
=l 1,400,000
2 535,169
02 22l 27,467 18,261 9,206
O HAUSEZ AYAY
2,567,000,0002!*1.07/100 27,467
03 Al&SOHH| 4,364 5,818 A1,454
O HAUSEZ AYAY
2,567,000,0002!%0. 17/100 4,364
=X = 1,226,873 1,153,881 72,992
= 185,852
s 113,369
= 36,489
2 891,163
zoi=x X8 1,226,873 1,153,881 72,992
= 185,852
= 113,369
= 36,489
2 891,163
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SN
X XH .
S Tt

el

SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24
MBIAGAH JIs Z&t 84,232 82,156 2,076
201 Let2d| 16,232 29,468 A 13,236
01 AtE22|HI 16,232 29,468 A 13,236
O=&l 4,032
o MHIASHZ AlH| 4,032,000 4,032
OMBIASHZZ 9 22y
00,000& =128 1,200
O MHIA SEHHA A 8,000,000& 8,000
FUAMHIA B8 3,000, 000& 3,000
202 O4Hl 8,000 12,688 A4,688
01 WY 8,000 12,688 A4,688
OMBIASHAFE OH| 8,000, 000& 8,000
301 Ypt8asg 60,000 40,000 20,000
01 M2 X =0dl= 60,000 40,000 20,000
& M2 =2 15,000& 2,000 *23] 60,000
A 2N 2 Alg2e] 328,803 438, 161 A 109,358
= 52,000
= 276,803
101 el ] 25,103 24,781 322
04 JIZtHIZ2E2ENEE S 25,103 24,781 322
OSEAMa=X2 22| FY 25,103
oJlE2=s 35,200 x2H 252 17,741
oRrsSnY 35,2003 »2H x52== 3,661
ORuPNEA=E=, 35,200 x2H 152 1,056
o= ESE= 35,200 x2H 30! 457 /365 2,645
201 YEr2 Yyl 53,700 58,380 ~4,680
= 52,000
= 1,700
01 AtS22/Hl 11,300 10,000 1,300
Oget=gH| 11,300,000& 11,300
&2 9,600
i 1,700
02 23234l 42,400 48,380 A5,980
OZ232= ¥ HMAl 1,700,000& 123 20,400
= 20,400
(@):K=3:] 10,000,000& 10,000
&2 10,000
OAl & &EHI=XIHl 1,000,000& x12& 12,000
= 12,000
401 A &HIL 204 250,000 0 250,000
01 Al&HI 250,000 0 250,000
OsXz el 2XI0K 250,000,000& 250,000
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SN OB D
u: xoi=x B
Ehol: FOI=X X (ol @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
MBIZ XA 25 200,000 30,000 170,000
401 Al&HI LS OHYI 200,000 30,000 170,000
01 Al&H| 195,200 30,000 165,200
OZT Mg =X2 el22E 195,200,000 14! 195,200
02 Zcldl 3,360 0 3,360
OZBASI=NR 222y
200,000,000& x1.68/100 3,360
03 Al CHl 1,440 0 1,440
OZBASI=NR 222y
200,000,000& x0.72/100 1,440
M EX 2 2etud 29 82,760 79,710 3,050
= 33,610
= 49,150
201 LetEdH| 82,200 78,360 3,840
= 33,610
= 48,590
01 AtE22/Hl 82,200 78,360 3,840
OZstua 234l 1,000,000& %321 3,000
OS5 DA BAME 55,0002 +20% +243]+30] 79,200
= 33,610
i 45,590
301 et as 560 1,350 AT90
10 BAHAHI A3 560 1,350 AT
ORsna 51934 Ayl
7,000& «20H *43] 560
MEEX2 THIOE=EX S A 80,010 77,530 2,480
=2 27,759
2 52,251
201 B3| 4,000 5,930 A 1,930
01 AtR 22l 4,000 5,930 A 1,930
OMII= XA 2| 4,000,000% 4,000
206 M=l 62,250 58,500 3,750
2 27,759
= 34,491
01 M=l 62,250 58,500 3,750
OgBrE M3 14,000& » 150 Ml CH %203 42,000
= 20,000
= 22,000
OZEAMHIANS 75,0003 » 150 Al CH 11,250
= 7,759
2 3,491
Okt & ZEWXH 300, 000& *30All CH 9,000
301 YptEaag 13,760 13,100 660
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S EOIMETRD
Hal: Fp=X EX
el F=oI1=X XY (B9 &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
01 APEI2EE 453 9,000 8,300 700
OMII=SXIHAX SEXE 60,0002 15041 CH 9,000
10 BAAHI 24D 4,760 4,800 A40
OISR SAES HOIR AUl
7,0002 *30% *203| 4,200
OISR 25| AHIEA 7,008 +40% +23] 560
os=xe 29 16,800 0 16,800
201 Y2yl 16,800 0 16,800
01 ALR2relHl 16,800 0 16,800
ONE=SNZ 29 16,800, 0002 16,800
QIREON 29 80,000 92,237 A12,287
307 212H0I 80,000 92,237 A12,287
05 DI2H9IEa 80,000 92,237 A12,287
ONEZ AHIH 22| 80,000,000 80,000
DI R E 2 Al 24,000 36,000 A 12,000
307 212H0I 24,000 36,000 A 12,000
05 DI2t9IEr2 24,000 36,000 A 12,000
OZDIMHIA QIS8 16,000,008 *13] 16,000
OZDIMHIA QIAKCK SHDS
8,000,00021 *14! 8,000
AN 2S 25,400 21,180 4,220
201 Y2 Y| 14,400 8,100 6,300
01 AFRZ2/Hl 13,500 7,800 5,700
ORI SAME 2| 6,500,002 6,500
ORUZA#A T2 AXB 600,000 *30H 1,800
ONASAX 2T M= 80,0002 *65% 5,200
02 =2l 900 300 600
OZ2223 % HA 900
0RHES Y&l 2502 *300S * 122 900
206 T 2H| 4,000 4,000 0
01 T2l 4,000 4,000 0
OBNEE H272Y 4,000
CHBEAMEE WEY 2,000,00024 2,000
OBIMTIRESAC U JIEHEE TR
250,0002 x4 +23] 2,000
301 PR AS 7,000 9,080 ~2,080
10 BALAHIBAS 7,000 7,280 A 280
OZCHSl SAXIHNE &4 4 50,0002 <20 1,000
OMASARNDES &4 B4 50,0002 20 1,000

_37_




A FRIMEX A
Ha: x=oi=i S
el F=oI1=X XY (B9 &2
_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 o HRE2
ONZSANES ZHI Adl 24
7,000&*300& 2,100
OXNASARUE B4 7,000& 200 1,400
OXASAMUHEA W FE A 1,500,000& 1,500
A SAH 2CIUIOIH XI&AHS 36,480 30,471 6,009
= 17,008
& 8,504
= 10,968
101 Q14| 36,480 30,471 6,009
= 17,008
= 8,504
i 10,968
04 JI2tHIZ2E2NHEE S 36,480 30,471 6,009
OX&S At ZOUI0IH XI& A 36,480
o 2124HI(2Y) 34,016,000& 34,016
= 17,008
= 8,504
= 8,504
o= ESE= 2,464,000& 2,464
NESAR EE =S XA 14,232 12,000 2,232
= 7,116
& 2,135
= 4,981
201 EH2HH| 14,232 12,000 2,232
= 7,116
& 2,135
i 4,081
02 2234l 14,232 12,000 2,232
OXNESAMAL B2 KA 14,232,000& 14,232
= 7,116
= 2,135
i 4,981
A2 SAH 2L 20,000 30,000 A 10,000
= 10,000
= 10,000
307 QI2t0IA 20,000 30,000 A 10,000
= 10,000
= 10,000
02 2ItBAE X 20,000 30,000 A 10,000
OXNZSAMA gdat K& 20,000,000& 20,000
< 10,000
i 10,000
NHEASAA H= W= 1,200 2,000 A 800
= 600
= 600
301 LetEas 1,200 2,000 A800
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M =olME 2 0t
Bu: zo=x =2
chel: Zoi=x| X M)
DA - E - SSI(B) - MIRAY - BAS aro SEL= ,
- co=m s IR ° . (= (=3 =5 0:”/‘l|_% (=]
& 600
i 600
10 dAtAHIE& S 1,200 2,000 A800
NRSAR A1 = 1,200,000& 1,200
= 600
= 600
METSSHZRE 72,438 69,898 2,540
= 35,719
= 36,719
101 elH| 71,438 69,898 1,540
= 35,719
i 35,719
04 JIZtMZ22XSE+ 71,438 69,898 1,540
OMNIEXESEMEIAEZ22E XA (3Y)
71,438,000 71,438
= 35,719
= 35,719
301 LEEAZ 1,000 0 1,000
10 At HIE& 3 1,000 0 1,000
OSEHERE W=sEH 1,000,000& 1,000
SSEXNEEHAH e 8,018 0 8,018
= 4,009
= 4,009
201 LEt23| 1,604 0 1,604
= 802
i 802
01 AtE22/Hl 1,604 0 1,604
OAtell2telAte 23l 1,604,000& 1,604
= 802
i 802
301 et2 4= 6,414 0 6,414
= 3,207
= 3,207
01 AM3IEEE+63 6,414 0 6,414
OAtell2telAte XI& 6,414,000& 6,414
= 3,207
= 3,207
=1\ 152,500 152,538 A38
= 122,000
= 15,250
i 15,250
301 LEEAZ 152,500 152,538 A38
= 122,000
& 15,250
= 15,250
01 AM3IEEE+63 152,500 152,538 A 38
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SN
X XH .
S Tt

el

=1
R
121

152,500
122,000
15,250
15,250

,049,762

190,822
279,918
149,227
429,795

772,663

277,099

486,225

155,208
77,313
69,015

184,689

373,441

112,784

A&

96,641
77,313

5,798
13,530

96,641

96,641
77,313

5,798
13,530

96,641

96,641

35,000
28,000
2,100
4,900
61,641
49,313
3,698
8,630

96,641

84,200

25,260
58,940

80,400

3,800

84,200

25,260
58,940

80,400

3,800

0z
L
=
it
oy

1A
R
ol
ry
==

ic
(o
=

152,500,000&
2
=
=
2
J|
&
=
=2
Jl
T
=
Jl
&
=
J|
==
=
250,000& x35+4:F J|
Jl
c
=
HI 61,641,000
J|
&
=
&
=
=
=
3,000,000& *4%H
o=
=
500,000& *3H
=
=
400,000& =120 AI CH
==
=
100,000& «15H

82,200

12,000
3,600
8,400
1,500

450
1,050

48,000

14,400

33,600
1,500

78,400

3,800
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S EOIMETRD
=R RV PEEPNE=FS
el AN KHNY (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
< 450
2 1,050
OSRIE [ LBE stab)
40,0002 #40% * 122 19,200
= 5,760
2 13,440
10 BALAHIBAS 2,000 2,000 0
SECI=PIES S-S 2,000,0002! *13] 2,000
= 600
2 1,400
HAS @ 2% HEX 63,900 64,100 A 200
301 LorEAD 47,400 47,600 A200
01 ABI2EE 453 44,400 44,400 0
OBt 2ItE T DS
30,0002 22024 x4 J| 26,400
OB RIE T s8EH
10,0002 * 1002 x4%2 | 4,000
OB=RIIE R Hatas =at3
350,0002 x20% 7,000
OMIb SROHE L FHI 70,0002 * 100 A1 CH 7,000
10 BAAHI A3 3,000 3,200 A 200
OB=RIE 25y 50,0002 602 3,000
307 212H0I 16,500 16,500 0
NIEESEES 16,500 0 16,500
OSTIIE BHEEB 13,0002 %504 C§+203] 13,000
O 2| 70,0002 *50 41 CH 3,500
AY HE 2H3 X 11,000 9,000 2,000
= 3,300
2 7,700
307 212+0| & 11,000 9,000 2,000
= 3,300
2 7,700
02 QIZAABE 11,000 9,000 2,000
OAYNH B LA 9,000,000 9,000
= 2,700
2 6,300
OAYINHEHNE L 2T 2,000,00024 2,000
= 600
2 1,400
DIE2IE RE N 11,320 11,320 0
= 3,396
2 7,924
301 YR A2 11,320 11,320 0
= 3,396
2 7,924
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CHol: AUINE SHX (G &)
_ _ _ Muo
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=2 2,160
= 162
2 378
Oots 2 2| 648,000 648
=2 518
= 39
2 91
O DAl st 6,930,000 6,930
2 5,544
= 416
2 970
ONRXAE A HIF X 2 (150401 5 A
1,800,000 1,800
2 1,440
= 108
2 252
ONPRAEL HEKHOIELSK)
5,850,000 5,850
2 4,680
= 351
2 819
ULBWES 235 ol 48,998 51,782 A2,784
= 2,000
2 46,998
=2k AL X2 13,000 13,000 0
= 2,000
2 11,000
307 QI2+0& 13,000 13,000 0
= 2,000
2 11,000
04 QItSHALB X 13,000 13,000 0
OO0 & Z=2H s ALK & 13,000,0002 13| 13,000
= 2,000
2 11,000
Mz 2EXA 35,998 38,782 2,784
201 Y2 11,748 14,388 2,640
01 AR 22l 11,748 14,388 2,640
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50,0002 * 1074 x23] 1,000
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CHASNEY 2E 2 L AREE ¢
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OAMTHESTIE 2 1,000,000 1,000
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dH: Hd=X3sd
Sl YHTS 25 s (et & 2
X
SA - EH L ORI(B) - MRAIY - HAS 01l &k o e HlDE2
CFEEECEEET
70,0003 7 E *23| 980
O= &l 4,032
oH&EX AR =& HAH| 4,032,000& 4,032
(@) PN = 2,200
o2 AL XhS Xt 550, 0003 =4 CH 2,200
202 Ol 8,500 8,494 6
01 =LHAbI 8,500 8,494 6
OWA&sX g2 =& ¢l 8,500,000& 8,500
301 LetEA3 15,750 15,900 A 150
10 SALAHIEA = 15,750 15,900 A 150
Os&NE &I B&23 50,0003 x9H »23| 900
OW&Ual &It 243 50,0003 *x26H »23] 2,600
O o9 ez Ws L A I E43
50,0003 x40H x4 3| 8,000
OHAHMIA SAEs 243
5,000& x100Z 63| 3,000
OZE04 HS0te A &I 243
50,0003 x25H 1,250
A A2 &0 XI& 22,600 22,600 0
= 2,640
= 19,960
e Lol &35 2,400 2,400 0
& 480
[ 1,920
301 LEEAZ 2,400 2,400 0
= 480
= 1,920
01 MIEE X 6= 2,400 2,400 0
Ol &3 MY 200,000 *12JH £ 2,400
& 480
= 1,920
HEXIEX &4 13,000 13,000 0
307 BI2tol™ 13,000 13,000 0
10 AlRISXEX 13,000 0 13,000
OWMXNEX L8NS 162,500& 80 13,000
oA JIsHSsS u=s 7,200 7,200 0
& 2,160
= 5,040
307 gI2told 7,200 7,200 0
& 2,160
i 5,040
02 QI2tAAE X 7,200 7,200 0
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3,300
7,700

26,726

18,708
2,673
5,345

7,800
3,900
3,900
29,420
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| = 30,658
2SIt EX 22 s 50,000 0 50,000
307 2I2+0lA 50,000 0 50,000
05 QItelers 30,000 0 30,000
OCH238otE Y Xtel HE(APC 0 E)
524 +500,000& x12& 30,000
10 AlBI=XIE X 20,000 0 20,000
OZE0IYURIIE B LSO
42t=2+5,000,000& 20,000
oA 23t 94,143 79,150 14,993
=2 35.614
= 27,560
2 30,969
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2 725
= 215
2 225
301 YerEaa 1,165 450 715
2 725
= 215
2 225
10 #AIMHI 243 450 450 0
OCEZATAN NS 450,000 450
2 225
2 225
12 JIEt2 A2 715 0 715
O =Xt 22 XA 715,000 715
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= 215
SOi0H, 682 28 X 14,200 8,500 5,700
= 3.600
= 3,900
2 6,700
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=2 3.600
= 3,900
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
301 YA 45,500 46,360 860
= 7,290
2 28,210
01 At B X453 45,500 46,360 860
ORFe YIZOLS AL X 12,000,0008 12,000
= 4,800
2 7,200
OJNHIEOIS B A 15,600,00024 15,600
= 6,240
2 9,360
OJNESIEOLS H4H| 9,100, 0002 9,100
= 2,730
2 6,370
O2ES0tE 121 1R 2| At
2,400, 0002 2,400
= 960
2 1,440
OBID0IS Yats stA4+LE N
6,400, 0002 6,400
= 2,560
2 3,840
NE Sle Y AUAHIIE X 114,810 95,910 18,900
= 74,928
2 39,882
301 YerBAZ 114,360 95,460 18,900
2 74,928
2 39,432
01 ASl2EE462 106,560 87,360 19,200
OAEAEHINE X 3,360, 0002 3,360
= 2,688
2 672
O ESISOIS LN 103,200,0002! 103,200
= 72,240
2 30,960
10 BAAHIE A2 7,800 8,100 A300
OAEAEINEA HHIS2DS B4
50,0002 *3% *23] 300
OAEAEINE o9 1] 24
50,0002 *10% 500
OZ20E HEX A8t HAX LS4t
50,0002 70 2 7,000
307 212+0IH 450 450 0
01 ABYR2H| 450 450 0
092 ¢ 22| 50,0002 9% 450
UAOIE YE4Y XY 30,000 21,694 8,306
= 21,000
2 9,000
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M FOMETA
g ots =X 58
Sl 0l 2AHS4 ol a e
SA - M. CHY (B HEAY . N2 Al OH HEE =}
SH M HA(FA) - HRAE - S = &= O] AFOH S5
301 et a= 30,000 21,694 8,306
= 21,000
= 9,000
01 MIBIEE A =0l= 30,000 21,694 8,306
Ogadots s+ A 30,000,000& 30,000
= 21,000
i 9,000
Z00ls LLAREXF 18,010 14,224 3,786
= 12,607
= 5,403
301 et a= 18,010 14,224 3,786
= 12,607
= 5,403
01 MIBIEE X =0l= 18,010 14,224 3,786
O A0ls L=EEXS 18,010,000& 18,010
= 12,607
= 5,403
Ots 2RI H & 13,680 14,400 AT20
= 9,576
& 2,052
i 2,052
301 etEas 13,680 14,400 AT20
= 9,576
& 2,052
= 2,052
01 AIBIEE X =0l= 13,680 14,400 AT20
OOotsSZ LRI 2AAH A X (49 13,680,000& 13,680
= 9,576
= 2,052
= 2,052
NA0otsdH2E X 319,140 268,800 50,340
= 171,600
= 80,340
= 67,200
307 2120l & 319,140 268,800 50,340
= 171,600
& 80,340
= 67,200
02 It a2 x 319,140 268,800 50,340
OXNYotsdEH XI&AT7HL) 307,440,000& 307,440
= 171,600
& 68,640
i 67,200
OX<GotsHEH SALR =5 11,700,000& 11,700
= 11,700
Ots=SXI WAL 124 H| 74,160 86,520 212,360
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= 51,912
= 11,124
i 11,124
307 GI12t0I & 74,160 86,520 A 12,360
= 51,912
& 11,124
i 11,124
02 BItBAEX 74,160 86,520 212,360
OX<otsdE LXtel K& 74,160,000& 74,160
= 51,912
= 11,124
= 11,124
otss4a X& 1,247,708 1,071,180 176,528
&2 289,625
= 702,600
= 255,483
201 LEH2HH| 2,880 2,880 0
01 AtER22/Hl 2,880 2,880 0
O0tss4 AEd MA 12 %20,00001 <123 2,880
301 EtEA = 1,244,828 1,068,300 176,528
= 289,625
L= 702,600
i 252,603
01 MaIEEH=0l= 1,244,828 1,068,300 176,528
Oglls E.358¢ =4 N&  612,000,000& 612,000
& 612,000
OozsE, gt =4 X 632,828,000& 632,828
= 289,625
& 90,600
= 252,603
OtssA?ds 23 1,260 1,260 0
201 LetEI| 1,260 1,260 0
01 AtR22/Hl 1,260 1,260 0
Olts=2ads =2 70,0003 x9H 23| 1,260
Ors?I& sl 2,900 2,000 900
& 580
= 2,320
301 EtEA = 2,900 2,000 900
= 580
= 2,320
12 JIEtE24 3 2,900 2,000 900
O0ts9E &sHl X& 100,000& «29H 2,900
L= 580
= 2,320
ors?Ias 29 12,120 12,180 A60
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OOISSIRE BA 4% 70,0002 «29% «43] 8,120
301 PR A2 4,000 4,060 AB0
10 SALAIHI 242 4,000 4,060 A60
OJLOISARANE L o1 HAT 24
50,0008 %208 x23| 2,000
OOIS9IY TS 24 50,0008 +20% +23] 2,000
01210l At XI & 18,000 15,000 3,000
307 212+0| 18,000 15,000 3,000
NIEEEES 8,000 0 18,000
OOofRI0lg A 18,000, 0002 18,000
o210l S0lIEf 22l 20,000 20,000 0
401 AISHIL L] 20,000 20,000 0
01 Al 20,000 20,000 0
O=2TY OfRI0IE SO0IE H2%
20,000,000 20,000
HE A TH X 2 1,287,000 1,113,000 174,000
301 YR A2 1,287,000 1,113,000 174,000
01 ABIEE X253 1,284,000 1,113,000 171,000
OYROt LS X2 1,284,000
o AITHOL AR0F LKH| N
200,0002 *460% * 122 1,104,000
O SO AR0F AFH| X
100, 0002 150 *122 180,000
12 JlEtR A3 3,000 0 3,000
OUEIIT QLT HF A4
500, 0002 *383 x23| 3,000
oo I ™SOS ARIXIR N 1,267 1,200 67
= 887
= 190
2 190
301 YU A 1,267 1,200 67
=2 887
= 190
2 190
01 A2 EE 453 1,267 1,200 67
oYY IEAASISARIXZ K
1,267,0002 1,267
= 887
= 190
2 190
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4,520
6,780
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S 11,520
= 17,280
IAsEs2XE 4,389,570 4,026,462 363,108
= 2,194,785
= 877,915
= 1,316,870
307 QI2t0IA 4,389,570 4,026,462 363, 108
= 2,194,785
& 877,915
= 1,316,870
10 At2ISXEX 4,389,570 0 4,389,570
OMAL=E UHSESZE X 4,389,570,000& 4,389,570
= 2,194,785
& 877,915
i 1,316,870
0ot RFAEFEE X 68,272 68,272 0
= 34,136
< 13,654
i 20,482
307 GI2t0l & 68,272 68,272 0
= 34,136
= 13,654
= 20,482
10 AtsI=SXIE X 68,272 0 68,272
OZot 222X 68,272,000& 68,272
= 34,136
= 13,654
= 20,482
gtoMIOH Ra4EEE XIF 523,588 523,588 0
= 261,794
= 104,718
= 157,076
307 QI2t0IA 523,588 523,588 0
= 261,794
T 104,718
i 157,076
10 At2ISXEX 523,588 0 523,588
OBH5HIo0H RaEE= X 523,588,000& 523,588
= 261,794
& 104,718
i 157,076
E=A4d S3HH 32,000 32,000 0
= 16,000
& 6,400
i 9,600
401 Al HI YL SO 30,000 30,000 0
= 15,000
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2,954

1,477
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14,576

6,588
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ZE: 0ls =X E2
o9l ESAlE 29 (el &2
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
QIR 4,000 2,000 2,000
OIS FAIE SN (2HA) 4,000,008 4,000
= 2,000
2 2,000
HRAL EAT MM 212,000 153,000 59,000
= 63,600
2 148,400
307 2I2H0IF 212,000 153,000 59,000
= 63,600
2 148,400
10 MSIZ X2 212,000 0 212,000
OESALSAT MM 212,000,0002 212,000
= 63,600
2 148,400
ATHOIOI S RA4BSEX 181,632 152,735 28,897
= 36,326
2 145,306
307 eI2H0IE 181,632 152,735 28,897
= 36,326
= 145,306
10 ASIZXIEE 181,632 0 81,632
OAMOI0IE RS2 181,632, 00024 181,632
= 36,326
2 145,306
SSAL0/0/8 OlS LN 225,660 214,800 10,860
2 112,830
= 45,132
2 67,698
301 LB 225,660 214,800 10,860
2 112,830
= 45,132
= 67,698
SIEEEERSTE 225,660 214,800 10,860
OESAIA DI0I180IS FH4Y
225,660, 0002 205,660
2 112,830
= 45,132
2 67,698
SRAL 2 X 121,500 124,500 23,000
307 eI2H0IE 91,500 94,500 23,000
10 AtSlZXRE 91,500 0 91,500
OSIAEBSAIE 2YH X2
250, 0002 x250H 4 * 128 75,000
OZYESAL 294 X 12,000,0002! 2,000
OESAE BIIS H0442 X
300, 0002 * 1574 £ 4,500
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M =olME 2 0t
& ots 2N 58
e BRAL 29 (crelaa)
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
402 22t XH=01A 30,000 30,000 0
01 SIZtGEEX 30,000 30,000 0
OLAEFAIE SF3Me K&
5,000,000 *6IH 2 30,000
SFAE SAX X2 148,000 148,000 0
201 et 1,800 1,800 0
01 AtS2t2ldl 1,800 1,800 0
o2d+¢ 1,800
oRSHUASY TY AANLY
200,000& »3Z x33| 1,800
ABBAZ 136,200 3,000 133,200
AMNIAEEZE0Z3 133,200 0 133,200
OEsuWAM EEXNETUE W=s 300,000&*12H 3,600
OYANESWAL 2124H| 7,200,000 7,200
QLU0 ES DAL HSIH&HI
60,000& x12& 170 122,400
10 dAtAHIBA S 3,000 3,000 0
OBSAE SAK 2408 B2
0,000& x10H »32l 1,500
SFANE SAA EFS#AF A S4
0,000& x10H »32l 1,500
307 212t01& 10,000 143,200 A 133,200
10 At2ISXIE X 10,000 0 10,000
OEBSANESAHA oHAHHA 10,000,000& 10,000
SFEMAL AHl EX 1,500 1,500 0
201 LBty 1,500 1,500 0
01 AtR2t2ldl 1,500 1,500 0
Os2d dA =22 ME 500, 000& »23| 1,000
OEsz2d dA 9 JE 50,000& * 104 500
EFANE 29 43} 20,110 19,110 1,000
201 LBt A 4,310 4,310 0
01 AtR22lH| 2,310 2,310 0
ozg=s¢ 2,310
0 BEEMAAS 2L 70,0002 112433 2,310
03 A2 I 2,000 2,000 0
OEB=sA4E Xgs & d=F4 AR
500,000& 43| 2,000
301 LEEAZ 5,000 7,000 A 2,000
12 JIEt2 43 5,000 5,000 0
OLUAEFAIE It M= 5,000,000& 5,000
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SN F0IME XD
Ha: 05 =X B&
Sl BRAM 29 (e @
_ _ pSNE e
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o Gil it o Rz
307 2I2+0IH 10,800 7,800 3,000
10 AEl=XEE 10,800 0 10,800
OORIO0IE BRY 2SS X
300,000 %2674 A 7,800
OESANE R0t RURE
2,50021%1,200% *13] 3,000
DIA5HI 0 RABSE 275,000 0 275,000
307 212+0IH 275,000 0 275,000
10 AEIZXEE 275,000 0 275,000
O OH-5KI0F RABS2 XA 275,000,0002 275,000
HHS AP (FLIME XA D) 62,490 76,373 ~13,883
[ET] 62,490 76,373 ~13,883
=Bl 62,490 76,373 A13,883
201 Yer2g| 38,490 57,373 18,883
01 AtR2elt] 35,790 54,673 18,883
oY+ 22,170
CAPEE 7Y 70,000 %2424 x23] 3,360
OSWIRIE)| E4 225,000 100 *33] 6,750
oLATREI EU
43900021 *1CHx444 %1 53] 2,634
0o =2AI &Y 375,00024 *2CH x3] 2,250
0o=AEBX 7Y 22,0002 %248 x 122 6,336
SRR 70,0008 * 122 840
osg4+g 4,620
SRR RS-
70,0008 %23 *43] 560
NN EE -2
70,0008 %112 x23| 1,540
CIEMEBHIANG BA 2g
2,520, 0002 2,520
SEET 9,000
OBOIADEX BE O4AHl 9,000,000 9,000
02 ZZ2H| 2,700 2,700 0
OzZze2(2H) 2,700,0002 2,700
202 01t 20,000 15,000 5,000
01 =LH0i | 20,000 15,000 5,000
SET-EELIEE) 20,000,0002 20,000
203 HRFAY| 4,000 4,000 0
03 AIBZ=RHREZY| 4,000 4,000 0
OAN =R = Y| 4,000,0002 4,000
WSS (FUMSXRD) 525,701 490,398 35,303
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SN FE0IMEX D
X XH - X
o Tt

&R WRHHXS (&9 HM
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
LHEHHXIE 525,701 490,398 35,303
2ESAZH Z2H = A &3 425,701 390,398 35,303
701 JIEII HE == 425,701 390,398 35,303
01 JIEfSI HE &= 425,701 390, 398 35,303
OozE2sdzd ZHREES /s 8&53
425,701,000& 425,701
I =MEBHIZ &4 100,000 100,000 0
702 JIBNES 100,000 100,000 0
01 JI3&E&E3 100,000 100,000 0
OJI =M AI|IZ &4 100,000, 000& 100,000
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